ADDING AND SUBTRACTING UP TO MILLION WITHOUT CARRYING (HN—aﬁ];élf 1)

TEST 2

Time: Score:

b 617151 + 381733 =

2 688001 + 211116 =

3 214367 + 705402 =

1 558598 — 133343 =

5 961194 + 212804 =

6 447450 + 152130 =

N 346972 — 330612 =

750029 + 48450 =

9 852415 + 36053 =

10) 569742 — 151032 =

1) 5345619 — 1123515 =

12) 3672785 — 1050355 =

13) 632797 — 301555 =

1) 241798 — 21627 =

15 255027 — 15017 =

Mathematics: Mixed - Level 7 - Horizontal - Set 1
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670458 — 640034 =

782957 — 101047 =

827306 — 702102 =

808410 + 80536 =

344437 + 21322 =

971795 — 840240 =

618790 + 360206 =

3320840 + 1348144 =

6770020 + 3104776 =

393433 + 205530 =

511320 + 127662 =

958438 — 223312 =

716590 — 205360 =

905769 — 3463 =

314077 + 510000 =
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